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Day 7 — Summary — Riemann Integration
1. A partition of [a, ] is a sequence (zg,Z1,...,2Zn) Wherea =29 < 71 < -+ < 21 < T, = b. The

size of the partition P is the length of its longest subinterval: | P|| = max; |z;+1 — z4|.

2. The upper and lower Riemann sums of the function f under the partition P of [a, b] are given by
Ua(f, P ZM N i1 — Ti)

Li(f, P Zmz )(Tit1 — T3)

where M;(f) = SUPge(z; z:,1) f (%) and mi(f) = infoge; 2, F(2)-

3. If the infimum all upper sums of a function equals the supremum of all lower sums, we say the function
is Riemann integrable. We say that the value of the integral is equal to the shared value of this infimum
and supremum.

4. All upper sums are at least as large as all lower sums. That is, for any partitions P, P, and function
f : [a7 b] _) R’
Ug(f) Pl) 2 Lg(f,P2)
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Consider parkitne P: (0,%32-,%)
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